H 5038159 CUSTOMISABLE RACK CASE

Step 6: Screw on lid using M3 (A) type screws.

" H 5038/39

N T
rog N CUSTOMISABLE RACK CASE
! I ! ! I
! I ! ! I
: I ! ! I
! I ! ! I
: I ! ! I
1 1 | !
: I ! ! I
L ——
| | |
| | | _® | | _®
| : L - - ) l/
| | o | o7 0
o
o Z A
aagg‘égzﬁ
Unga
0
@
Contents:
1 x Front Panel
- agaﬂf’z 1 x Internal Panel
b
0 1 x Top Panel
2 ¢ p
o zaogpu 1 x Bottom Panel
0970%40)
Zzgzﬂ”o 1 x LH Side Panel
0
< 1 x RH Side Panel
2 x Handles
4 x Mounting Channels
30 x M3 Countersunk Screws (A)
18 x M4 Screws (B)

Distributed by Altronic Distributors Pty. Ltd. Perth. Western Australia.
Phone: 1300 797 007 Fax: 1300 789 777
Internet: www.altronics.com.au

Manufactured in China for Altronic Distributors Pty Ltd

Page 4



H 5038/39 CUSTOMISABLE RACK CASE H 5038/39 CUSTOMISABLE RACK CASE

Step 1: Screw handles to front panel using M4 (B) type screws.

Step 4: Screw bottom panel onto the case assembly using M3 (A) type screws.

Step 5: Screw in internal mounting channels as required, using M4 (B) type screws. The internal frame can
be used as a front or rear panel sub frame. Alternatively it can be mounted horizontally at a choice of 3
heights as a base plate sub frame.

2
Step 3: Screw side & rear panels to the front panel using M3 (A) type screws.
(220 (22, (225 (25, (20 (225 (20
I (] (=
(A) : (- (=
| ) (=7 (=7
‘, (-7, () (-7, (27, (22, (2N
i OO OO O O O (T (T T, T, (T, ot OO
| — (S — (T ) (T, (T T, (T T, (TS, (T, (T
0 = A ) >
—— | —— (D}
1 —— (D}
CO O OO CD D O O D
[GEED/ GEED I GHED I GHED I GHEID I GHED Ji GHED [ GEED [ G
0, o(:) COCOCOCOHCHOHCHOH CHOH CO CO
|
|
|

Page 2 Page 3



